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Question Number : 1 Question Id : 70819120644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819167081, LM LT 7]

g0 ]
70819167082. Lot

/ 1
70819167083. Sl

12 2
70819167084, | M7LT 7]

Question Number : 1 Question Id : 70819120644 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
g 2
70819167081, LML T ~]

70819167082, | MILTY]

j 1
70819167083. LA

2 2
70819167084, LM LT 7]

Question Number : 2 Question Id : 70819120645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u” has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167085, Poth A and R are correct and R is the correct explanation of A.

20819167086. Both A and R are correct but R is NOT the correct explanation of A.

70819167087. A is correct but R is not correct.

70819167088. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120645 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819167085. Weld A3 KO 9e® R & A Q O QUisil 2eY |

70819167086, #8¢ A NS° R OR @g R &' A @ OR <iel g6 |

70819167087, A OR 266 @3 R Ow q62 |

70819167088, A O 262 @3 R O 26T |

Question Number : 3 Question Id : 70819120646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocit}-' is itwersel}-' proportional lo its velocit}-'.

moN®p

to follow a trajectory such that the areal vEIOCft}-' is constant.

Choose the correct answer from the options given below :

Options :



70819167089, “* ©™Y

70819167090, < °nly

70819167091, 0 only

70819167092, L= only

Question Number : 3 Question Id : 70819120646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819167089, SW9w A

70819167090, S@9@ C

70819167091, 6@e@ D

70819167092, 5@9@ L

Question Number : 4 Question Id : 70819120647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \ﬁ‘; R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass ‘M’) where both have
equal radius R’

m M
R R
X | R Y
Options :
VB GmM

70819167093. =/  R°

£ GmM
70819167094, ° R
| ‘ SMm

i 2
70819167095, 2¥8 R

%2 - GMm
2
70819167096. - R*

Question Number : 4 Question Id : 70819120647 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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X JBR Y
Options :
B GmM

70819167093, -’

ﬁ - GmM
70819167094, ° R

1 GMm

2 3
70819167095, V8 R

2 \E i GMm
3 R2
70819167096.

Question Number : 5 Question Id : 70819120648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options :

B g
g ma<+ 2mb
70819167097.

70819167098.



g maZ + 2mb?

8 maZ + mb?®
70819167099.

3
—ma—
70819167100. 5

Question Number : 5 Question Id : 70819120648 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

'V Qg 29l 6615 QEINIR 6899 OIf 61668 ‘m’ 92Q 6 ‘a’ QUIAE G4 GIeaIT YRIRRAl Fa
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Options :

._1 ) ¥ )
g ma~“ + 2mb-
70819167097.

8
—maZ+2mb?
70819167098, 2

8 ma<>+ mb?
70819167099, °

)
—ma-
70819167100. 5

Question Number : 6 Question Id : 70819120649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be:

Options :
'El’f_ l”|
J \ I ¥,
70819167101.
'E(l 4
70819167102, ) T R/
3T

70819167103, !

T

70819167104, ")

Question Number : 6 Question Id : 70819120649 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2Q°¢ r AT 948 9909 A3 R QuaE 988 6aIEY 90 #99% 62nad | @0 990 T ¥
Q199 AR QR | 89, g0 1R A0a6a 9999l QIN98 699 :

Options :
.Elf_ l\|
I &= ¥,
70819167101.
3T(1_ 1)
70819167102, 1 7 R/
aT

70819167103,

70819167104.
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Question Number : 7 Question Id : 70819120650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
-
70819167105, &

70819167106.

70819167107. I

PK
70819167108. P

Question Number : 7 Question Id : 70819120650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

66154 ORIEia QIR ARSI p 19° 2R gL g4Is (998 A9RY) K 266 | 6A60696R AAIR
Q1968 99 Aer 91 (P) aRIaN, @ ooide ALEIER 629dY R aRAId 699 :
Options :
P
70819167105, K

X
70819167106, P!



'pK

IJ

70819167107.

PK
70819167108. P

Question Number : 8 Question Id : 70819120651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

70819167109. ©

70819167110.

Question Number : 8 Question Id : 70819120651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
2R
708191671009.

70819167110.

70819167111.

g
70819167112, 2™R

Question Number : 9 Question Id : 70819120652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature § at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 0
R :
s R1
Options:
0;R, + 05R
70819167113, K1+ Ra
B4Ry + 0,R,
Ry + R,

70819167114.



Ry — 05R;

70819167115. g
8,R5 — 4R,
70819167116, "2~ Ri

Question Number : 9 Question Id : 70819120652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q09 9 0 QIAIG! 6, 19° 0, (T96R R4IAINASI 2QAI6R) A2 6 QIT1A GBEA R, 1e° R, 44!
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...... 0
R, :
Ry 0
0
Options :
0;R, + 0,Ry
70819167113, R1 t Rz
0;Ry + B,R»
70819167114, J1 +tRa
70819167115. g B
0,R, — 03R4
70819167116, X2~ Ri

Question Number : 10 Question Id : 70819120653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R, Its time
period of revolution will be given by :

Options:

b3 | e

T =
70819167117.

2|

70819167118, | * R

70819167119, T=R?

- |

T =
70819167120.

Question Number : 10 Question Id : 70819120653 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
3
2

Tx R
70819167117.

| e

70819167118, | * R

70819167119, T=R?

b |

TaxR
70819167120.



Question Number : 11 Question Id : 70819120654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K I are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

N

R =

70819167121.

l}j,\E
70819167122, *

70819167123.

=z
70819167124, +

Question Number : 11 Question Id : 70819120654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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219891 699 47190 d2 00eaR 699 ?

Options :

N

1
:.-
70819167121,

70819167122.

70819167123.



]
70819167124, +

Question Number : 12 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819120655 Question Type : MCQ Option Shuffling : Yes

Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

y 3
from the centre of the rod is a= e I

O
€ a 5E
] | B R .
0 P
v lg
Options:
Q

—=
70819167125, ~TeoL

Q

—1-’:TE.|_'} |_.2
70819167126.

30

4rey L2
70819167127.

O

[y . 2
70819167128, =V  Teo L

Question Number : 12 Question Id

: 70819120655 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
Q

2
70819167125, “Teol

Q

—l-’:TE.[} |_.2
70819167126.

30

-l-’:TEﬂ I_.2
70819167127.

0

~ . 2
70819167128, =V  Teo L

Question Number : 13 Question Id : 70819120656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C > with C 52 I " when connected in parallel,

the equi\ralent capacitance is T times the equivalr_-nt capacitance of the same connected in

.C;‘_
series. Calculate the ratio of capacitors, C_l



Options :
29
70819167129. 1°

15
70819167130. 11

15

70819167131, 2

11

70819167132, 8V

Question Number : 13 Question Id : 70819120656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C,>C, U 98 Qg C, ¥e° C, Q T6QIg 85I @6 | 2AIRRER I°Y9R AR URGI 6§4160
T [
9 AAQAN 2GR - §81 26E | - ° @ 2RAIR AWRI @1
Options :
29
70819167129, 19

15

70819167130. 11

70819167131.

J1i

70819167132, &V



Question Number : 14 Question Id : 70819120657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be:
Options :
e |
- 0+ 22)
70819167133, V<

1 (i + ip)?

=\ 2
70819167134, V2

' 1

- [.:'2 | :2.?

T
70819167135, V2

1 1

= it + i3 )2
70819167136. =

Question Number : 14 Question Id : 70819120657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6615 geuea! G916, 6218 i=i sin wlti,cos ol QIR 24IQIB2E | 3946 69169 ARIAGE
R67Q (29.490.99) 629 |
Options:
= |
- [ + 1)
70819167133, ¥<

70819167134.

1
70819167135, V2



b3 | b=
flcy
=
I fod
TR =

70819167136.

Question Number : 15 Question Id : 70819120658 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Five equal resistances are connected in a network as shown in figure. The net resistance
between the points Aand Bis:

D
RE
R R
RN
AN
E 2 o
Options :
oR
70819167137.
R
70819167138, 2

70819167139, K

3R
¥

70819167140. =

Question Number : 15 Question Id : 70819120658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819167137. £

R
70819167138, 2

70819167139, K

3R

70819167140, 2

Question Number : 16 Question Id : 70819120659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the

mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819167141 Image is virtual, opposite side of concave mirror.

70819167142. Image is real, same side of concave mirror.

70819167143, Image is virtual, opposite side of convex mirror.



70819167144. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

100 cm 9991 888 4@ 6816 2RY 999 6UIRQ 6RdYR 9AF AN | f| =40 cm 9 @ YGIRIA
Q04 QA6 69912 28 QU6 Q28 | 9dd QIal 2809 gEFAa @89l 25 cm 9° 12 98
Q@gql 9060 (66964dR) QPG | W@ goRIg P64 JRIFEA QUG 699 64 :

Options :

gJoend AR 9e° 2ee edda Faaie Algea ag |
70819167141.

70819167142 JUQre Ql4e 19° 9un Qdda 4delle digeq g |

20819167143, 90998 ZRIA1 ¥Q° Qa0 odeq Ga61e aKjea 8 |

goend 9199 1e° ees 9dde aAIe aKea 2T |
70819167144,

Question Number : 17 Question Id : 70819120660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819167145, 1 mm

70819167146, 072 mm



70819167147, 0.50 mm

70819167148, U-22 mm

Question Number : 17 Question Id : 70819120660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ 9d 959 9018168 906 §9 (§9) 2 mm 65 92R 69in 62ER e 9aQIT @ R 9aBIe
28 | 60666967 500 nm 0aF 6340 66IEN ZICAIR USRI FRICN, T8 MR 689

Options :

70819167145, 1 mm

70819167146, 0/ mm

70819167147, 0.50 mm

70819167148, U-2° mm

Question Number : 18 Question Id : 70819120661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A ¢ An electron microscope can achieve better resolvmg power than an optical
microscop e,

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible Iight.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819167149, Poth A and R are true and R is the correct explanation of A.



70819167150. Both A and R are true but R is NOT the correct explana?inn of A.

70819167151. A is true but R is false.

70819167152, ‘8 1alse but R is true.

Question Number : 18 Question Id : 70819120661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GE6R 9aF 8% QUIUIEE | €IS 6TIAEI A 8 2T e R AQREH Q6 621088 |
BRIGEI A : 6915 2G0IR U484 9] 0 6615 AERRER AYIAE JREA SR F6R9R ATl
AR |
QI8 R : 6615 RERRER 617G @9F0 GEARERA B62I0R 0Ad 6RMY QAYAIR ZICAIRE 0OF
694405, 920 Q4 |
A6RI9 03909 A96R, 776a 98 af ¢Feg 0] 988 098 a9 :
Options :

70819167149, @& A 9" R 4ol 262 99° R & A @ OF il |

70819167150. @R A 99" R Qo4 alee @3 R & A & O QUich g6% |

70819167151. A 94 260 @3 K f128M g6y |

20819167152, A Fall 26S @g R Qe 266 |

Question Number : 19 Question Id : 70819120662 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A; : A, is :



Options :

70819167153, 7 : 108

70819167154,

70819167155, 1+ 3

70819167156, 1+ °

Question Number : 19 Question Id : 70819120662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@ ), @° ), D2IQ6A AIAAIR JHRIQ 991G 6ARA 1Y° CINERR 4HPIA Q2 6ARGR QaE R4
263, 6969 A1 h, B GAY 629 :

Options :

70819167153, 7 : 108

70819167154, * *

70819167155, 1+ 3

70819167156, 1+ °

Question Number : 20 Question Id : 70819120663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"%Js and c=3x 108 ms~ 1|



Options :
70819167157. 654 nm and red colour

70819167158, 054 nm and orange colour

708191671509. 1046 nm and blue colour

70819167160. 1046 nm and red colour

Question Number : 20 Question Id : 70819120663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ARORQIR 08 Ga-As-P g 9@ LED §2I6 eaieql | 4@ LED @ 63 90 J6a@ (Ya1 quig)
1.9 ¢V 268 | 2I6RIaE0 0aa 60dY 9&° 94 @aRl 99 |

(h=663x10"34]s 9Q° c=3x108 ms~1)
Options :

70819167157. b4 nm 9%”° GG QU

70819167158, 054 nm ¥%° Q@I Qe

708191671509. 1046 nm 19" @1q Sl

1046 nm ~99° @il Sf
70819167160.
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Question Number : 21 Question Id : 70819120664 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction 35 The critical force to be applied on the vertical surface as shown

at an angle 60" with horizontal such that it does not move, will be 3x. The value of x will be

g B e
[g=10 m/s~; sin 60°= T,cos 60" = E]
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Question Number : 21 Question Id : 70819120664 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819120665 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i Y

A boy pushes a box of mass 2 kg with a force F =20 i1 llll;r'x N on a frictionless surface.

)
[f the box was initially at rest, then m is displacement along the x-axis after

10 s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819120665 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{

QIRRc 2 kg 99Q Q88 @ QIgq F =

' _f\.\ g i
201 + 10§ ‘N QP60 696" 9ENG Ua6e 60ne |
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|

(9 QI9F dleaen Hq 29HIca Q@aM, 6969 10 s 969 x-UF 966Q 49la YR 699
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120666 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/s? will be
N. [g=10 m/s?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120666 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



2066 29l 9@ RaE AR 6aIEN Ja Qg AU6R B¢l 6RIBYSI IR 897 6) kg 29 | 4T
QATed 1.8 m/s?2 @89 AQQALER 998 gAY, 913 FITR B 629 N

[g=10 m/s”]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120667 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 2 N. Value of x is . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120667 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6616 AAQD 910 g8 1aR 69dY I 929 26e 0135 g/cm | y=—021 sin (x+301) QR
4R 2999 o0 1g6a 98 FquaRl, 660 1 § (606 19°  6U6RER 28 | 6066 GIRGER
ALY 6IF (66RQR) 866 xx 102N Ixagmaee | (fFasen gd
d°GIeR geld aa)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120668 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120668 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

65154 2] AFER 9lal 995 PIEA 59 ARITIEE | gaA GINaR ZIGeR 4.5 fea & §o1a
QIA0Q ZIROS 5.5 REY E6T | 97 Q1986 2.0 Qgaa91d (2IFEAIZERR) S196a 3.0 671N Qg
49° 5919 617a8 3.0 91g Aawa (Ac6AIG2Ea) S16a 4.0 6AIR GUQ dIaE QAF | AIFaed
20106991 06Q, 4T daRaq AITAN | 6969 Hd6a 62R2Ql ARIAY AR SID 6268 1 x 10~
gdIcendze I xa M aee |

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120669 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at Pis xx10~1V/m. Valueof xis . (Rounded-off to the nearest integer)

[Take £,=8.85x10 2N m 2 c=3x1P ms™]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120669 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1000 W 9] QIel @854 0298 6208 19° 1@l 2 m 9R6I6R 8%l P 0l6R 6aITN RERRER
689 1" QAR1A 687 98 Q9B | RRFR Q@8I 1.25% 266 | P 0l6R A6FI9 6310w 689R ¢
266 xx1071V/mixQgai2ee |

(U8 £,=8.85x10"12 C2N~1 m~2 ¢=3x108 ms~1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 27 Question Id : 70819120670 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120670 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

69164 689459 0Ra2es, @63 e 30 arasR 1a A 69 20 C §IF] g9F0 @89Iq Y6
@ QUIEER! 2°6AI8 RAISIAI | UEERIR 96 698 F16R 15V Q 398 QI 61 QHITRI | YIEEQUT
Qlal QA0 @y eeed ]I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120671 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N W
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120671 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
ofxis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

661G 2ILIF FZAR GaA ATRIS I CIRY A JAIGEA 16 V ¥e° 8 V 26g | 9@ Igia
GRS 006 I8 18RS Q682 xx 1072 266 | x Q FRY 266 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819120673 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change willbe .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120673 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

66169 6g4Nn6a g LCR 2gRIQ 080269, real o9 (QIRG 19a) 100 Q1R ALIQIRE | €@
g661990I9 90gd 9F QAIAN Q° gREaRI] 9gE RAIDN, 6969 1@ ARER U6 URQE
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId : 708191918
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911198
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819167171.

70819167172, 4d

70819167173, 4!

70819167174, 29

Question Number : 31 Question Id : 70819120674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Qa5 6RERR 999 Qb IFRIQ 67199 29 ARFCIRE 69uE :

Options :

3p
70819167171.

70819167172, 4d



70819167173, 4!

70819167174, °2d

Question Number : 32 Question Id : 70819120675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819167175, Both A and R are true and R is the correct explanation of A

70819167176. Both A and R are true but R is NOT the correct explanation of A

70819167177, A 1 true but R is false

70819167178, A 1s false but R is true

Question Number : 32 Question Id : 70819120675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



G76R QA6 Q6 QUGS | €A1 Q6RIF A 99 ARE @I0d R QI6R 526 QAIIAE |

QRIS A : CIRETIN - YIRETIR F1ER UIRLER JORAIE 1RdIg 2AR6IRT CINYAR 90Tl AP
TR60 2IR6QI6RR 98 F0R 84 |
QIQ8 R : 6gJ80 AR Q6RER, 696aEE 671FR 19° HF 64 21a6@lees, 2o derdalq) |
QORI 2196 UQQER FIRYS Faeg A0S 0RGE QI8 :
Options:
20819167175, A 99° R @82 964 19° AQ a0 yieM R

70819167176. A 99" R @eld 4o @9 A @ 409 QUietl R g6%

70819167177, * 9¢1 @ R 246y

70819167178, A @461 R €ul

Question Number : 33 Question Id : 70819120676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11
Electronic configuration AH in k] mol —1
of elements
(a) 1s2 2s2 (i) 801
(b) 1s22s?2p? (i) 899
(c) 1s22s22p3 (iii) 1314
(d) 1s%2s%2p! (iv) 1402

Choose the most appropriate answer from the options given below :
Options :
20819167179, (@) = (1, (b) — (iv), (¢) — (i1i), (d) — (ii)

70819167180, (@) — (), (b) = (i), (¢) — (i), (d) — (iii)

20819167181, (@ — (i), (b) — (iid), () — (i), (d) — (i)



70819167182. (a) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

QIRRI -1 g - 11 a2 & -

eIael -1 RS - 11
(el@ae QsRg e @94Id) (A;H in k] mol 1)
(a) 1s22s2 (i) 801
(b) 1s%2s? 2p4 (i) 899
() 1s22s22p3 (i) 1314
(d) 1s?2s?2p!? (iv) 1402

ARYe Jag aug A0. @eef Qg :
Options :
20819167179, (@) = (D, (b) = (iv), (¢) — (iii), (d) — (i)

70819167180, (@ = (W), (b) = (i), (0) — (ii), (d) — (iii)

70819167181. (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819167182, (@ = (), (b) — (i), (¢) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1L

List-1 List-11
(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :
Options :
20819167183, (@ — (i), (b) = (i), () = (iv), (d) — (i)

70819167184, (@ — (i), (b) — (i), (c) — (ii), (d) — (iv)

70819167185, (@) = (id), (b) —= (iv), (c) — (i), (d) — (iii)

70819167186. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QIR 1 @ 11 92 AqI2 :

IR - 1 SRR - 11
(ugda) (e0de cAlaa)
(a) QERAG i) &«
(b) @IdecaRs (ii) 6RRR
(c) AAI[S (iii) 6LIaw
d) <eAE (iv) @

37 998 F@ge 90 L89F UL -
Options :
70819167183, (3) = (i), (b) = (1), (¢) —= (i), (d) — (i)

70819167184, (@) — (iii), (b) — (i), (¢) — (ii), (d) — (iv)



20819167185, (@ — (ii), (b) — (iv), () — (i), (d) — (iii)

70819167186. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :
Options :
70819167187, ‘+ and Bonly

70819167188, ‘+ and C only

70819167189, ‘*and D only

20819167190, ‘ Band Conly

Question Number : 35 Question Id : 70819120678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G160 NI Ga6e K8 28 GUANE |

A. [5G0 9EFAR GIgaIRT 28R K F06e AIRee 95FI6R MNeRe 9 |
B. @79 a¢d 699109 G640460 QG8R g9 29

C. @If9ee 965I& AId 99 26cad| 2 ]

D. H,0 & @96x1d8 D,0 26cad! 2a

Q¢ Gag fag 209 28eF QI8 :



Options :

70819167187, 4 98" B 6a9q

70819167188, 95" C ¢

70819167189,  4&° D 6aew

70819167190, B 95" C caeq

Question Number : 36 Question Id : 70819120679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO,; + H,0+B — NHHCO,
NH,HCO, + NaCl — NH,C1+C

Options :
70819167191, A~HO ; B=0;; C—Na,(O,

70819167192, i Gy CNati s

70819167193, T oA b Sk ke =INEERCE,

70819167194, % : =

Question Number : 36 Question Id : 70819120679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



QR 9eaaiea A, B 99° C
NH;+ A +CO, — (NH,),CO,4
(NH,),CO, + H,0 + B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

R G4da 9 :

Options :

70819167191, A H20 ; B~ 0y C~NayCO;

70819167192, ¥ i Gy CNaki s

70819167193, ¥ SRR a RS o =N,

70819167194, % * %

Question Number : 37 Question Id : 70819120680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options:
70819167195, PO

70819167196. b

70819167197, 1 304

PbSO,
70819167198,

Question Number : 37 Question Id : 70819120680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

4R 934191 9PI0Q GI6e QU0 6PAYR A gd6n QR A60 | 1P AQ Q80 QU60Ea @
g | 6410 A 6988 -

Options :
70819167195, PO

70819167196, | PO

70819167197, 1 304

PbSO,
70819167198.

Question Number : 38 Question Id : 70819120681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MDZ ?
[M is lanthanoid metal]

Options :

70819167199, Nd

70819167200. 2V

70819167201, FT

70819167202. YD

Question Number : 38 Question Id : 70819120681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



GORYe MRS FY 69w MO, F08 Q6a Q@ ?
Options :
70819167199, Nd

70819167200. 2V

70819167201, T

70819167202. Yb

Question Number : 39 Question Id : 70819120682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :

Options :

70819167203 protects us from the UV radiation

70819167204, Protects us from the X-ray radiation

generates phntodmmical SmMog,
70819167205.

70819167206 protects us from greenhouse effect

Question Number : 39 Question Id : 70819120682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6QI6TIFRINER G897 SYIGR QUIE

Options :

70819167203. dife ZeQutldl denlw YRady] QElwea
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70819167204.

70819167205, SIEE! SQHIGIR Qa Q7 Q6

70819167206, <2F Wal Yulag @l @60

Question Number : 40 Question Id : 70819120683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separated bﬂ, simplr_- distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167207. Both Statement I and Statement 11 are true

70819167208. Both Statement I and Statement 11 are false

70819167209 Statement 1 is true but Statement Il is false

70819167210. Statement 1 is false but Statement 11 is lrue

Question Number : 40 Question Id : 70819120683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Gg6a Qa6 690 GuLIqg
QB 1:  6QeRITd 8 AR 1@ F94Q 209 €I gaIR1 QIR 2Rl fRINR ARY
QRO I1: 60606960 2FAR 8 690 @ (gdQ 918 0I0R g9 QR AIFRAY RS RRIKN,
PIGRE 9210 99w 0I5 @F CITAIgIea T69
Options :
20819167207, 9% @96 19¢° @9@ 11 O]

70819167208, #@@ 99 1 4e” oqe 11 gR

70819167200, Toe 19 0Q #g @g 11 & 94

508 16 aq 6a 508 118 B9
70819167210, o¢ 1 4R @3 @9 11 & 0)

Question Number : 41 Question Id : 70819120684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819167211, Carius tube is used in the estimation of sulphur in an organic compound.
70819167212, Carius method is used for the estimation of nitrogen in an organic compound.
70819167213. Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphoric acid produced on oxidation of p]msphoms present in an organic compf}und

20819167214, 8 precipitated as Mg,P,0- by adding magnesia mixture.

Question Number : 41 Question Id : 70819120684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
76 9o cea aQdf fa ?
Options :

70819167211, {7 66@ 6dIEIR6R ARTRR AIGI ARG @ QUG §Y9 IeDIR 2

20819167212, 9@ 659 6JIIREE FINELIEHRR IRl 29N dia G U0 SYeLR 99

R

17 689 6JTRE8 FINCCICHRA AIGl ARG Cipl 698 FIPiR, JFF IR 29 |
70819167213 & 6'e 6Hlblaeh PIR6EIERas FiIYl diany dib 6wkl QIR U9 QY9Yk 9]

609 6dICRER g9 UdUad FIN0 (R0 AR LRI TYUaR &g egdel fge a9@ A4

Mg,P,0, ®I6Q 296ade 99
70819167214, ’

Question Number : 42 Question Id : 70819120685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH = CHBr 1. NaNH,
, - (A)
CH, 2. Red hot iron tube, 873 K (major product)
What is ‘A" ?
Options:
(|:H =CH—-NH,

-

CH,
70819167215,

CH,CH,CH,NH,
70819167216, =

70819167217. :

70819167218.



CH,

Question Number : 42 Question Id : 70819120685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0e QAR goFal aIQ

CH=CHDBr 1. NaNH, |
> (A)
CHj, 2. Ale @99 6Rl2 /a1, 873 K (F814 2919
‘AT Q47
Options :
(%I-I =CH-NH,
CH,
70819167215.

70819167216.  ° 2

70819167217. :

H,C CH,

CH,
70819167218. :

Question Number : 43 Question Id : 70819120686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z , "'.h’
TR T 1 '} i
UV light (major product)
monobrominated

CN

What is "A’?

Options :
H,C Hq

70819167219.

CH,CHjy
70819167220.

\CI I/

f "CN
70819167221.
CH,CH;

70819167222.

Question Number : 43 Question Id : 70819120686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
QR QIANGR 9eFal aR

CH,CH,
Bl"z 2 izt

CERIERIFERETR

CN
‘A Q4
Options :
70819167219.
CH,CHjy
70819167220.
\Cl I/
i "CN
70819167221.
CH,CH;
70819167222.

Question Number : 44 Question Id : 70819120687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
| Hydrolysis B

;ji = T
373K (C4HgO)

(C4HgCl5)

B reacts with H}-‘drox}fl amine but does not give Tollen's test. Idemif}-' A and B.

Options :
70819167223. 1,1-Dichlorobutane and Butanal

70819167224. 2,2-Dichlorobutane and Butanal
70819167225. 1,1-Dichlorobutane and 2-Butanone

2,2-Di : 9
70819167226. 2,2-Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120687 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A eRUAISE B

B 2I06gIan 2Ifa 92 go§al Q60 §% CeRRY aa1dl G4 6@ | A 9¢° B § 526 @a :
Options:

=R EGH Y £ = - -1_\'
70819167223, L1-@Q6RIERIIEER, B QEIRIN

7 IRQICERIERIGIERG 1 QORI
70819167224, 22 CREFERAIFIEER, B QLIRIR

Py i i ) il i ] o I ~ 1 O e
20819167225, 11-CIHERIEAIFIEER, 8 2-QE16AIA,

70819167226, 2.2 @IREGICRIQIEER B G4615-2-0q,

Question Number : 45 Question Id : 70819120688 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I::lentit'}-' the major pmducts Aand B rospoctivel}-' in the fnllnwing reactions of phc-nol ’

OH
& (i) CHCl;, NaOH Br, in CS, @
-
(ii) HO* 273K
Options :
OH OH
Br CHO
and
70819167227.
OH OH
and
70819167228. DT CHO
OH OH
Br
and
70819167229. CHO
OH OH
CHO
and

70819167230.  Br

Question Number : 45 Question Id : 70819120688 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

CUARde FOWNYe gORdIa ¢l Qe AGQ B q 9912 -

OH
_‘{1} CHCl;, NaOH Br, in CS, @
.
(if) HRO™ 273 K
Options :
OH OH
Br CHO
qg°
70819167227.
OH OH
70819167228,  OF CHO
OH OH
Br
6P
70819167229. CHO
OH OH
CHO
q9°
70819167230, T

Question Number : 46 Question Id : 70819120689 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : n-NitrophenoI is steam volatile due to intramolecular h}-’drogen bondi.ng.
Statement 11 : n-NitrophenoI has high melting due to h}-’drogen boncling.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819167231, Both Statement I and Statement 11 are true

70819167232. Both Statement | and Statement 1l are false

70819167233, Statement 1 is true but Statement 1l is false

70819167234, Statement 1 is false but Statement 11 is true

Question Number : 46 Question Id : 70819120689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fe16R QaE @986 YuIKGE

deel: G4l AAQRIA AFECYIERR 99 6QIg 0-RINETIETRR IV AL
QP II: LIRECLIERT 99 611G c-FINETIETFRE B9 AR 2T |

RO6RIS 390 AFUIER G g9 IR Frlf AR AIYS FWAEY S :

Options:

70819167231, @ @q@ 16 11 O

70819167232, “E& @9e 1 8 11 ¢&l

70819167233, " ™

70819167234, 2 1 @l



Question Number : 47 Question Id : 70819120690 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is

Options :

CH,CH,CH,NHCH,
70819167235, 2 2 :

H
CH.CH.,CH.-N - CH.CH
70819167236. I =073

NH —CH,CH,CHj
70819167237. :

CH,CH,NH,
70819167238, ~ -+ ?

Question Number : 47 Question Id : 70819120690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ 2Eq, 698 dREUIRG 6gIRIge 48 goRal 26Ia SI0Id 99460 AQedIa
Q6Q | 4E@ ACSY 295 6QRI9es 2IFRRYY 910 BUR AT AR | 9
CAGRIE 68RE :

Options :
CH,CH 3
70819167235. sassT i ;

20819167236, 1 3CHRCHN = CHyCH;



NH —CH,CH,CHj
70819167237. :

CH;CH,NH,
70819167238. L e

Question Number : 48 Question Id : 70819120691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprene is :

Options :
—{—CI—IECH:CI—I—CHQ—CHE CH ]n
70819167239. CN
Ll“l
L cH, C—CH—(_HQA}F
70819167240.
%HNH “/Nﬁh ,,NHCHHE
KHHHKN
NH
70819167241, |
«PCHZ CH-|
In
70819167242. —

Question Number : 48 Question Id : 70819120691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

GBHaa ReRIT cER8

Options :

«{»CI—IECH:CI—I—CHQ—CHE CH ]n
70819167239, CN
fT“l

70819167240.
—HN___N___NHCH,]-
“/ \( n
N-_ f !
NH
70819167241 |
]
CH,——CH—
70819167242 —

Question Number : 49 Question Id : 70819120692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819167243, Vitamin B

Fog s g
70819167244, Yitamin C

T e v o -
70819167245, " itamin E



70819167246. Vitamin K

Question Number : 49 Question Id : 70819120692 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FORYe 608 G010 99 FFM6a FAIC QTSI AITIAY S ?
Options:
70819167243, ©°/A9.B

70819167244, #e19 C

70819167245, “°/€9E

70819167246, 2o K

Question Number : 50 Question Id : 70819120693 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HESD4, gas X is evolved which turns KgCrZD?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options :

X=SD rY:{:r E{)
70819167247, 3 2(504);

70819167248, ~~ 2Oz Y=Cr0;

}{ kT SD;, Y e {:I'-)O-_s
70819167249. y =i

}{ . SD"), Y = er{S‘O_-l]q
70819167250. K s :



Question Number : 50 Question Id : 70819120693 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A8 A ATYIER &g 99 9 6dIFe Q1] QUM QIR X NIQ G66 99 Q191 AY
ARCIAR B¢ 99l 26904 621089 991d2F SIRERI6Rs @ qumquu@uauuam&‘1a 200
CRIRAN | X B Y Q2IQ66 62688

Options :
=90, T—0Cr.{50)
70819167247, 2 2(504)s
70819167248, X~ >0z Y=Cr0;
K=503, Y='CI‘-;O;
70819167249. : 2
X=SD'3, Y=CI‘-;{5‘D_.1:I:5
70819167250. a = :
Chemistry Section B
SectionId: 708191919
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911199



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120694 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 x 103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120694 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
50000.020x 10 3 6 @8 QAR FMAIRTR Qe
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120695 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(dZ) b

b) =RT. The value of | —
dP JT

A certain gas obeys P(V

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric

is —. Thevalueofxis .



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120695 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o (A2 ab :
b=RTQ a6 | |=| aaat 2 1xqqay
) 5 @ il

9 G898 aug PV .
\ fJ'Pj']"

m
(gderay @) (Z : aofiesl géw)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120696 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H9=80 K] mol~!) the entropy change A S° depends on the temperature T(in K) as
A S9=2T (] K~ lmol 1),

Minimum temperature at which it will become spontaneous is K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120696 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A+B=C+D qQefe ge8a a9 (A,H®=80 kJ mol ~!) uaesid ofeas AS® Qionlg
T (6enfiase) 2068 799 @6a 60629 A SP=2T. (J K 'mol~!) @9fq elaqigl 6200 1@
Qes 699, o8 K| (g4 eau)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120697 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 30, at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The
non-volatile sr}f’ute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) (r’ngff-l mm of Hg | is ¥ 10 2 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 54 Question Id : 70819120697 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

298 K 31 atm 60 224 mL 9906 €Ia 29188 a41g 100 mL @ 0.1 M NaOH @946q 99&e
RAICIBE | 600 UGRddl Qg 36 g @R 990 QAIKIGE | (996] AY 6QIR G0 @d )
H’mzofﬂ mm of Hg | @964 @figi08e @18 619 698 xx10"2mmof Hg | x & QY 6068

o 1 (g4 2aen 26e)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120698 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, Su A( 51 ZB'{E} is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole ami the equilibrium pressure was 1.9 atm.

The value of KI‘ is xx10~2 The value of xis __ (Integer answer)
[R=0.08206 dm®atm K~ 1 mol~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120698 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



6 8 QeIer 298 9188 goR 9 ABy ) = Ay + 2By G @9IGAI | AB,
QRAe TAfIg ARl 9@ 6FIR, 99° ALY ST gl 1.9 atm KP Q )R 6208 xx1072 | x
q g (9d @l @89)

(R=0.08206 dm’atm K~ ! mol 1)

D D

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120699 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the [ oﬂowing reaction
MnOjy +8H™* +5e~— Mn 2 -lHEO, =151\

The quantity of electricity required in Faraday to reduce five moles of MnOy is

(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120699 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



FORYS 9PRAI0R 9919 Q9 -
MnOj +8H* +5e~— Mn*2+4H,0, E°=151 V.

5mole MnO; @ @0d @89 Qi 29aN@1 §949 0AAIE TAICEER 6298
(gedaey @e)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120700 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol~!. If energy change
AE during the reaction is — 20 k], then the activation energy for the reverse reaction in k] is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120700 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

48 9106801 gB&AI X = Y 6 25901 63 30K mole~! | @& 95F06H 98 089ER AE-20k]
24, 0l626R BRASI 9GESI QI8 ASEYe ARG 49 kK 6a 6268 (g4 eamies
a9e)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120701 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at T atm and 300 K in Lis _

[R=0.0821 L atm K1 mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120701 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.2 g F20 2Ig6R 3.12 g O URICRR AYEAITG 941 1atm 9° 300 K 019AIGI6R g6 4@ iF
PRIGAITRER 26 6992Q URTERRR PIER NORER 6988
(R=0.0821 L atm K~! mol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 59 Question Id : 70819120702 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120702 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

GIRGKIENS 2I90e F10 990 6ald AR G006 AQI96R 6RIALAR IRg d°¢ c8al

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120703 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),,Jis .
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120703 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[Mn,(CO)yq] 68 649 6910891 CO maIaqa a°eil 62@8
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
SectionId: 708191920
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 7081911200



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819120704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pory delowEll

If a and ; are perpendicular, then a < la \a > bJH is equal to :

Options :

S’

70819167261.

4

‘—}—>

al b

M| =

70819167262.

e
70819167263.|a‘ b

e

70819167264, @ * b

Question Number : 61 Question Id : 70819120704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

—

4@ a B'E @A 291, 6069 a -la-f{a- {am h}H AFG .
Options :
70819167261, ¢
' 4
;‘a b
70819167262. <
.—}4—}
|a‘ b

70819167263.



—

70819167264, @ < b

Question Number : 62 Question Id : 70819120705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7,5,5), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of his:

Options :

70819167265. °

70819167266.

70819167267.

70819167268.

Question Number : 62 Question Id : 70819120705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a2 @9 (1,5,35),(7,5,5), (L A, 7) 8 2\, 1,2) g6@ 90601 (99 9705 Q6 8989), 6669

A B €619 QHE RN A ee -

Options :
30
70819167265. °

70819167266.



K=

70819167267. 5

44

70819167268, °

Question Number : 63 Question Id : 70819120706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2x+y=6is a :
Options:

70819167269, Jight angled triangle

70819167270. Isosceles triangle

70819167271. Equilateral triangle

70819167272. None of the above

Question Number : 63 Question Id : 70819120706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GR6aIf 6adll x —y=0, x+2y=3 9¢* 2r+y=6 AT JTEED AU 91X :
Options :

70819167269, d1E@IST GEE



70819167270, V4L GHE

70819167271, 91914 GUW

70819167272. WUERIA IR W Fllg 6RWe e

Question Number : 64 Question Id : 70819120707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a+1)a+2) a+2 1
The value of |(a+ 2)(a+3) a+3 1fis:
(a+3)a+4) a+4 1

j+¥]

v}

Options :

a+1)(a+2)(a+3
20819167273, @ FD(@+2)(a+3)

70819167274, @+ 2)(a+3)(a+4)

70819167275, — 2

70819167276. 0

Question Number : 64 Question Id : 70819120707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)a+2) a+2 1
(@a+2)(a+3) a+3 1 @ ey 266 :
(a+3)a+4) a+4 1

Options :

70819167273, (@ D@ +2)(a+3)



20819167274, @+ 2)(a+3)(a+4)

70819167275, — 2

70819167276. 0

Question Number : 65 Question Id : 70819120708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

'\IZ
20% in 2 hours. If the population of bacteria is 2000 after — hours, then is
20%in 2}t [f the population of bact 2000 aft g l th 3
IOBE |._§ ) L IOBH il
equal to:
Options :

70819167277. 2

e

70819167278.

o

70819167279.

6

=

70819167280.

Question Number : 65 Question Id : 70819120708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1@ 3699668 9IRIGAIEA QFA 219, AOE6 29 Q1N e A2 AALAIS! B AR AT t=0
696R Q1914 A&l 1000 266 | @A DGIER D1FIG MR 20% (§0a9 20) 9F @6e | 9F

F 4

k
51 W6l QRN Qo 2000 &9, 6069 [—J qela -
IOBE (E; \ IOBE i
Options :

70819167277. 2

.

70819167278.

o ]

70819167279.

70819167280. 16

Question Number : 66 Question Id : 70819120709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB =13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
O\\\;;i:i:;73 X

Q
Options :

70819167281, 24V2

70819167282, 243

70819167283, 26v2



.
70819167284, 2643

Question Number : 66 Question Id : 70819120709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G96a 98 9869, F6aaa OA =1 488, OB=13 a4, 4" PQ LOB g5 AA | 6669 §9@ PQB
0 cHeTR (FE99R) 266 :

I’Q
I
Q
Options :

1{-‘

Q
=
W

70819167281, 24V2
70819167282, 2433
70819167283, 26v2

v
70819167284, 2633

Question Number : 67 Question Id : 70819120710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ [V3sin(Z +h) — cos(Z + h)]
The value of lim 24 = = — ! is;
h—0 | J3h(y3cosh — sinh) ]

Options :

70819167285.



Wk

4

70819167286. -

2

70819167287. V3

3
70819167288, 4

Question Number : 67 Question Id : 70819120710 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fJEhh]{%—l h ) vnaf% Ilir

lim 2! ' L Q au 2I6e :
h—0 | \.Eh[ \J":_*-L‘m h — sin h) J =

Options :

W |

70819167285.
70819167286.
2

70819167287. V3

3
70819167288, 4

Question Number : 68 Question Id : 70819120711 Question Type

Is Question Mandatory : No

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = — ¥ — 5¢° + 18x% — 19x occurs at the point :
P Y P

b3 | =

Options :

70819167289, (0. 0)

)
70819167290, (& 2)

70819167291. =

70819167292 (2 9)

Question Number : 68 Question Id : 70819120711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@6adl y = —x* —5x° +18x% — 19x @ QN 6qlC Al SgF :

P2 | =

Options:

70819167289, (0. 0)

g
70819167290, (& 2)

70819167291. =

70819167292, (2 9)

Question Number : 69 Question Id : 70819120712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The value of _|= COS_:L: dx is:
B N
Options:
LU
70819167293, #

70819167294, 2T

70819167295, 2

70819167296, *™

Question Number : 69 Question Id : 70819120712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w/ %
‘T cos“x s
| dx & M 26 :

1 +3*

Options :

e

70819167293.

-2
=]

70819167294.

!

70819167295.

70819167296.



Question Number : 70 Question Id : 70819120713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819167297, 42

70819167298. -

=1
e |

70819167299.

s
-2

70819167300.

Question Number : 70 Question Id : 70819120713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6998 1,2 6 3 2% 99q 1e0IR @9 J6 2w §3e gdory GUf *aIEde 6aWd RIS
QFE 10 69989, 6069 CARIREE d°¢I 26T -

Options :

70819167297, 42

70819167298. *

=]
=~

70819167299.

i &
-2

70819167300.

Question Number : 71 Question Id : 70819120714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The maximum value of the term independent of ‘t’ in the expansion of [LP |

\ J
where x< (0, 1) is:
Options :

10!

70819167301, V3(5!)°

2.10!

X .1
70819167302, V331

70819167303.

2
70819167304. A5!)

Question Number : 71 Question Id : 70819120714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

410
J_" {]. X )% \I = i e - " o ] ., -
tx® 4 t G096 gaI9d6a ‘¢ 09 ¢9 291 999 (6998d xe (0, 1)) 9QR GaY
X 4

e :

Options :
10!

70819167301, V3(3))°

2.10!

X LA
70819167302, V33!

70819167303.



$2.10!
3(51)2

10!

2

|
70819167304, °')

Question Number : 72 Question Id : 70819120715 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options :

" L T
70819167305, ° (& ¥) [ T Hym=4]

70819167306, >~ (& ¥)

4oy o e )
70819167307, > (& V) }

e L 0 -;,_'
20819167308, 5= & ¥) | ¥ +y*= 2}

Question Number : 72 Question Id : 70819120715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A6eae R={(P, Q) | P 8 Q 23905 adIe Qa6 2989} 1@ afe (a0e), 696w (1, -1) @
AAQRY 69410 6Q6E 26 :

Options :

" L T
70819167305, ° (& ¥) [ T Hym=4]

70819167306, >~ (& ¥)



gl L
70819167307, > (& ¥) | ¥ +y°=1)

e g 0 -:,='
20819167308, o= ® ¥) | ¥ +y*= 2}

Question Number : 73 Question Id : 70819120716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819167309 !

70819167310, 4

70819167311, ©

70819167312, 12

Question Number : 73 Question Id : 70819120716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Aeaae A gderaiaesea 2x2 984 @ aafie AIEQ 26e | 99 A2 @ @4 (QREAINR) 67 49
RUIQAIREE YO8 1 267, 6969 Y0Q AIT] §99a a9 Al 2e6e :

Options :

70819167309. !

70819167310, 4



70819167311, ©

70819167312, 12

Question Number : 74 Question Id : 70819120717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

f)—fw)| = |@-y)? v (xy<R
If f(0) = 1, then :
Options :
70819167313, /() >0, ¥ xe R

70819167314, /() <0, 7xe R

70819167315, J(¥) =0, vx e R

70819167316. f(x) can take any value in R

Question Number : 74 Question Id : 70819120717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FERRR 9199 el 626 R Q068 9@ 097 & 4@l | flv) —fy)| = [(x—1)?, ¥ (v y) € R 28]
qI6R | 9@ f(0) = 1, 6069 :

Options :

20819167313, /(¥ >0, ¥ xe R

20819167314, J(¥) <0, Fx = R



20819167315, /() =0, 7 xe R

f(x) @ ol 6delad QIge a°ey
70819167316. ° -

Question Number : 75 Question Id : 70819120718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :

8
70819167317. 2

1
70819167318, 2

70819167319.

15

70819167320, 2"

Question Number : 75 Question Id : 70819120718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ 50608 goIq 748 26 a1 6T1ae a1 83 7§ H (g8) aeeq aaesl 98 H (g9)
dIgel 98 4aI9, 6969 26 H (7€) 0I09ia QRIIG! B6E :

Options:
15

B
70819167317. 2



12
70819167318. 2

70819167319.

15
14
70819167320. 2

Question Number : 76 Question Id : 70819120719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1 \
. sin X cos X tan 1 o :
If = = L 0 <x <1, then the value of C05| | is :
a b C \a+b)

™C

Options:

-

70819167321, 1 ¥~

-

ly‘
70819167322, VY

70819167323, 1 TV

2y
70819167324.

Question Number : 76 Question Id : 70819120719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_sinlx coslx tan”? Ul 580 e e
Qg = = ,0<x<1, 6969 COS| | @ faY 266 -
a b C \a+b)

Options :

70819167321, 1 ¥~

2

-y
70819167322. VY

1 yz
14 -1;2
70819167323. :
1 yz
2y
70819167324.

Question Number : 77 Question Id : 70819120720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

25
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

]
=

70819167325.

Ld

70819167326. 20

70819167327. -

23

70819167328, 39

Question Number : 77 Question Id : 70819120720 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ 9fe g6dIan 664160 2018 6 99 d9q 9ad 19" 9618 B 98F a9q gdae 25 aed

|\..}|E_‘;-,"

6069 98, 99 6 280 09 A8 aaIe
Options :

70819167325. 26
70819167326, 30
70819167327.

70819167328, 39

Question Number : 78 Question Id : 70819120721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 22

The sum of the infinite series 1+ — + — + — + — + — + ...... is equal to :

Options:

k.

70819167329, 4
n

70819167330, 4

70819167331. 4

15
70819167332. 4



Question Number : 78 Question Id : 70819120721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 . 22 _
B e A e Wi N 0N 2IQ1F 69N fa18 oo QAR -
Options :
9
70819167329, 4
‘¥

70819167330. 4

13

70819167331. 4

15
70819167332. 4

Question Number : 79 Question Id : 70819120722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes
P : 3x+Dy+21z=19,
I"2 : x—3y—z=95, and
Py : 2x+10y +14z=5
Then, which one of the following is true ?

Options :

20819167333, [1and P, are parallel.

70819167334, L1 and P; are parallel.

70819167335, 117 P2 and Py all are parallel.



20819167336, L2 and P5 are parallel.

Question Number : 79 Question Id : 70819120722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
afeq Py : 3x+ 15y +21z=9,
P,:
Py :
6069, A6 6@ 66T Qo 26E ?

—3y—2z=5,0

X
2x +10y + 14z =5 GFEQITY @910 @9

Options :
70819167333, F1 99" P @liael

70819167334, D1 997 P @ellas

q9° oo Q)
20819167335, L1 P2 987 P; @6 @dliaq

P, 4%° P, Q18R
70819167336. 2 :

Question Number : 80 Question Id : 70819120723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n
The value of Y | e* Pl dy where [ x] is the greatest integer < x, is:

n=1 n—1
Options :

70819167337, 100(1—¢)

70819167338, 100(1+e)

70819167339, 100e



70819167340, 100(e —1)

Question Number : 80 Question Id : 70819120723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

11.}{_] n g _

Y e dx, (cadd [x] @ 2 x @ ey 9@ QNG gdee < 1) @ aN B6E
n=1 n-1

Options :

70819167337, 100(1—¢)

70819167338, 100(1 +e)

70819167339, 100e

70819167340, 100(e —1)
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Sub-Section Id : 7081911201
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Question Number : 81 Question Id : 70819120724 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

. : 2 . a|
of curves given by ¥~ =a| x =
\ =)

,a>0is__ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120724 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 1 )

, a[x | T‘ a >0 2909 eedE o6t AINea Ia e €lle %@@ @edl | RIe 2¢q @
.

6(891) fulea Qi Bes
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120725 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120725 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AM@ed ¥’ -222+2x-1=0 @ Q19 (f2) 9oa 162 o0 QIen AT 266 ____
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120726 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—2|is _
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 83 Question Id : 70819120726 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6aell y=| x—1|-2| g&@ QI 2196 6A9R CHFTR 26
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120727 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dJ’ siny

If y=y(x) is the solution of the equation Ohm‘fCOSyE e cosx = cosx, y(0)=0; then

l ) \'ﬁ () 1 =) _
14 y|\EJ | ?y|;J | \_fiﬂﬂ isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120727 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A8 y=y(x), 9Fead e*"”l'cosy% Fe¥™ cosx = cosx, y(0)=0 @ 9@ QAN 29, 606X
sy ) o
11 ‘UIEJ | ?ﬂﬂ | %HL‘ aqle
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120728 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120728 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

log,(x —1) =log,(x —3) ANQAEQ ARG A°El EES _

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120729 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120729 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ke R,k @ gdagy gay Qanl, 6d00@ aNead 3sinx +4cost=k+1 @ 4@ IRIF Q8Q,

adee

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819120730 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

AR A
| T 4 isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120730 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-

A69aa (A, 2,1) §90 9@ AMGR Q6 2P0 | 49° 1@ QAeRE §Q @, -2, 2) ¢t 69a 6@
Q68 | 99 AAGRE (-2, —21,29) 8 (-1, —16,23) §Q QUQ 6<IEl GRAN GAIQ AR 29, 6969

»2
\= 4\
— -4 Qe _

' 11)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120731 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin?x |dx is
0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120731 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™
[|sin2x |dx acieeBa qau Bee
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819120732 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f \.ﬁ{msz;\') = (/3 = 1)cosx + 1, the number of solutions of the given equation when

=y | T

0, —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819120732 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

BUEY Wel YNRGE dellle <6l

Qg l«ﬁ{mszx] = (43 = 1)cosx + 1, 6QI606Q6R X € [U, %
aes ___ _
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120733 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

( (30
| =n-2™, then
29

W

o (30) (30)
Letm, ne Nand ged (2, n)=1. If T’r[l‘ 0 ‘ I 29‘ 1 ‘ Fiiic 2
V) kit

30\
LZSJ F1

ntmisequalto .

( (n) )
‘ HL‘.FL’.“ | = an ‘
\ ‘_.1\.' .)l

4
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120733 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



(ea@el m, ne N 99° (2, n) & QlRIIgE 6 g Aee =1 | 9@

30\ (30) 30y (30} . _
30 + 29 | a0 s k1 |=n-2 6969 n+m QA
0l 1) 28) " | 29)
. n
[‘{}IDIEEI[ W = ”Ckw
; *.k/' r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



